S1 Table. Proportion of smokers in subsamples.
	 
	Respondents in both waves (unbalanced panel) (1)
	 
	Respondents in both waves (balanced panel)
	 
	Respondents  in either W1 or W2 (independently pooled cross-sections) (2)

	 
	Wave 1
	Wave 2
	 
	Wave 1 
	Wave 2
	 
	Wave 1
	Wave 2

	Males
	
	
	
	
	
	
	
	

	Proportion of smokers
	0.13
	0.13
	
	0.12
	0.13
	
	0.15
	0.12

	Std.dev.
	0.34
	0.34
	
	0.33
	0.34
	
	0.35
	0.33

	No. of dyads
	5,726
	3,056
	
	2,572
	2,572
	
	3,154
	484

	
	
	
	
	
	
	
	
	

	Females
	
	
	
	
	
	
	
	

	Proportion of smokers
	0.21
	0.14
	
	0.16
	0.13
	
	0.25
	0.18

	Std.dev.
	0.41
	0.34
	
	0.36
	0.34
	
	0.43
	0.38

	No. of dyads
	5,534
	2,911
	 
	2,440
	2,440
	 
	3,094
	471



(1) Using sample
(2) [bookmark: _GoBack]Independently pooled cross-section = unbalanced panel – balanced panel
